
SAP ABAP table T5CZQ {HR-CH: Calculation Rule for Child Benefit}

T5CZQ

MANDT [CLNT (3)]

KANTON [CHAR (2)]

ENDDA [DATS (8)]

KUREGSTD [CHAR (3)]

KUREGEA [CHAR (3)]

CDALTBER [CHAR (3)]

CDALTBERU [CHAR (3)]

T000

MANDT [CLNT (3)] T5CZQ-MANDT = T000-MANDT 0..N

1

T5C19

MANDT [CLNT (3)]

FAMKA [CHAR (2)]
 T5CZQ-KANTON = T5C19-FAMKA 0..N

1
T5CZA

MANDT [CLNT (3)]

CDALTBER [CHAR (3)]

 T5CZQ-CDALTBER = T5CZA-CDALTBER 

0..N
1

 T5CZQ-CDALTBERU = T5CZA-CDALTBER 
0..N1

T5CZM

MANDT [CLNT (3)]

KUREG [CHAR (3)]

BISSTD [NUMC (6)]

 T5CZQ-KUREGEA = T5CZM-KUREG 

0..N

1

 T5CZQ-KUREGSTD = T5CZM-KUREG 

0..N

1


